Math without Calculator: Question 1

n Tony spends $80 per month on public transportation. A 10-ride pass costs $12.50, and a single-ride
pass costs $1.50. If g represents the number of 10-ride passes Tony buys in a month and ¢
represents the number of single-ride passes Tony buys in a month, which of the following equations

best represents the relationship between gand t?
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In the equation above, T represents Brittany’s total take-home pay, in dollars, for her first week of baw H n)

(/'——.\
work, where h represents the number of hours she worked that week and 1,000 represents a p aont
sign-on bonus. If Brittany’s total take-home pay was $1,5786, for how many hours was Brittany
paid for her first week of work? - %—o\'&\ h1
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A clothing store is having a sale on shirts and pants. During the sale, the cost of each shirt is $15
and the cost of each pair of pants is $§25. Geoff can spend at most $120 at the store. If Geoff buys s
shirts and p pairs of pants, which of the following must be true? <
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A 155+25p <120
B 155+25p > 120
C. 25s+15p <120
)Q 258+15p =120
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n What is the solution to —3(x—5)= —2x+4 7
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nf(x) =x34+3x2—6x—1

For the function fdefined above, what is the value of f (1)
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n Triangle ABC and triiangle DEF are similar triangles, where AB and DE are corresponding sides. If

‘?E =2AB and the perimeter of triangle ABC is 20, what is the perimeter of triangle DEF ?
h\(fyj‘u' v ‘?1"\5-\‘

View Answer v A
A 10 f)(ui
B. 40 P.D .
C. 80
D. 120 ,
LA R 08 (W “Jt/" {3‘3 rmd 0T Sin— o

Question Difficulty: Medium s jhe san? as

o ,\irJ 125

rafqo  cbsias



-
i

P

There were no jackrabbits in Australia before 1788 when 24 jackrabbits were introduced. By 1920
the population of jackrabbits had reached 10 billion. If the population had grown exponentially,
this would correspond to a 16.2% increase, on average, in the population each year. Which of the
following functions best models the population p() of jackrabbits t years after 17887
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n Which of the following is equivalent to the sum of 3x*+2x° and'4x4+7x3?
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n The function fis defined by £(X)=X?, and the function g is defined by 9(x) =x?+3. Which of the

following translations of the graph of fin the xy-plane results in the graph of g? x“+ ¥
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A. A translation 3 units downward
B. Atranslation 3 units upward
& A translation 3 units to the@
% A translation 3 units to the@
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Nete: Figare not drawn to scale.

In the figure above, segments AE and BD are parallel. If angle BDC measures 58° and angle
ACE measures 62°, what is the measure of angle CAE?
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D. 120°

3
n An oceanographer uses the equation $ = EP to model the speed s, in knots, of an ocean wave,

where p represents the period of the wave, in seconds. Which of the following represents the
period of the wave in terms of the speed of the wave?
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Which of the following could be an equation for the graph shown in the xy-plane above?
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j= X
In the equation above, & and b are constants and 0 < @< b, Which of the following could
represent the graph of the equation in the xy-plane? 2
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What value of x satisfies the equation given? X = 9 [ - H.S
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What is the solution to the equation above? X =
o = xZ-iux+33
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If (x,¥) is the solution to the system of equations above, what is the value of 100x +40y?
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